
 

izk- MkW- n-ds- xa/kkjs 

ejkBh foHkkx izeq[k 

vWM- ,e-,u- ns”keq[k egkfo|ky;] jktwj rk vdksys ft- vgenuxj 



                   ifgys l= 

             vk/kqfud ejkBh lkfgR;&izdk”kokVk 



 ?kVd% 1  

?kVd        ri”khy                      Js;kad      rkfldk 

1-       vkRepfj= %                       1          15 

       laadYiuk] Lo:i ] izsj.kk vkf.k  

      okVpky      

      yfyr x|krhy vU; lkfgR;izdkjkP;k  

      rqyusr vkRepfj=kps osxGsi.k 



 ?kVd% 2  

?kVd               ri”khy             Js;kad      rkfldk 

1-       vkRepfj= %                       2          30 

       izdk”kokVk % MkW- izdk”k vkeVs 

           

       

       



            nqljs l= 

 e/;;qxhu ejkBh lkfgR; % fuoMd e/;;qxhu x| ] i|  

 



 ?kVd% 1  

?kVd           ri”khy                       Js;kad      rkfldk 

      

  1-    1- e/;;qxhu x| % egkuqHkkoh; x|]        1           15 

         c[kj] ,sfrgkfld i=s] Lo:i vkf.k  

         fo”ks’k 

         e/;;qxhu x| % vHkax] Hkk:M] xoG.k] 

         iksokMk] yko.kh % Lo:i vkf.k fo”ks’k                     

       

     

       

    



 ?kVd% 2  

?kVd           ri”khy                       Js;kad      rkfldk 

     

   2-   2- vH;kliqLrd %                         2           30 

         fuoMd e/;;qxhu x| ]i| 

         laiknd 

         izk- MkW- f”kjh’k ykaMxs 

         

       

     

       

    



iz”uif=dsps Lo:i 

    vk/kqfud ejkBh lkfgR; % izdk”kokVk & MkW izdk”k vkeVs 

e/;;qxhu ejkBh lkfgR;% fuoMd e/;;qxhu x|]i|  

fo|kihB l= ijh{kk  2020 &21 

osG 3 rkl 

iz”u dzekad 

?kVd fugk; iz”u ri”khy  xq.k % 70 

iz”u 1 yk 5 iSdh 3 iz”ukaph mŸkjs 50 “kCnkai;Zar fygk- ?kVd 1 o 2      15 

iz”u 2 jk 3 iSdh 2 iz”ukaph mŸkjs 150 “kCnkai;Zar fygk- ?kVd 1 o 2      20 

iz”u 3 jk 3 iSdh 2 iz”ukaph mŸkjs 200 “kCnkai;Zar fygk- ?kVd 2      20 

iz”u 4 Fkk 2 iSdh 1 iz”ukaph mŸkjs 300 “kCnkai;Zar fygk- ?kVd 2      15 

                                        l= ijh{kk ,dw.k xq.k      70 

                                  varxZr ewY;ekiu ?kVd 1 

 1- vH;klsrj& vH;kliwjd midze & ftYgk rs vkarjjk’Vªh; Lrjkoj ;”kLoh lgHkkx ]       

    lkfgR;fo’k;d ;ksxnku] vH;kllgy]{ks=HksV] vgoky ys[ku 

 2- izdYi dk;Z ]lknjhdj.k ] Lok/;k;] ppkZl=] xVppkZ ]vfHkoknu 

     10 

                           ?kVd pkp.kh ?kVd 2      20 

l= ijh{kk vkf.k varxZr ewY;ekiu ,dw.k xq.k      100 


